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SFAEREE | REETE) e WEASE | =HKiE | Skl W
i Kz emZ) MF 2] (bar) (htm] (mmHz0) (mmHz) (F=i, LbfInZ)
S FrAIERE
1 0. 0981 0. 981 0. 9E7E 104 T35.6 14. 22
#
Akba EHrF 0.2 1 10 9,678 1.02%106 | T.50%103 1.45% 102
= 1.02 0.1 1 0. 9863 1.023 104 50 14.50
RSk 1.0332 0.1013 1.0133 1 1033104 B 14. 696
= 10-1 9.81 % 10-6 95 1% 10-6 | 0. 968 10-4 1 T3. 63 10-3 1,43 10-3
EAk R 138 % 10-3 1. 33 % 10-4 1.33x10-3 | 1.318%10-3 13.6 1 19. 3% 10-3
BES BT (Pei) 0.3 % 10-3 B.80%10-3 | BE.9X10-3 | BE.05%10-3 T03 51.72 1
71D 1MPa=1000KF +=1000000Fa=10. 1972Kef en2=10bar=9. 6927 atn=145. 035F =1, Lb/In2=T500. 62nmHg
¥ 1@ 1Kgfen2=99. 0BESKFa=9. 0865 ¥ 10-2MF &=0. 950665bar=0. 967541 atn=10nnH20=T350559nmHg
i@ nmHg e 012, g=9. BOBESM/sZ; mmHg ==e- 013, z=9. S0BESM =
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i i i+ TR (Ke) gl 4 () B (Lb)
M () 1 1000 1000, 000 9,813 103 2205
TR e 0. 001 1 1000 .81 2. 205
(g 10-8 10-3 | 9.81%10-3 2,205 % 10-3
47 () 102 * 10~ 0. 102 102 1 0. 225
B (1k) 0. 454 % 10-3 0. 454 454 4.45 1
B
B Him) et (In) HRLEE) 4 fmm ) #H (ml) %8 (En)
# n) 1 39,37 3. 2808 1000 B.214%10-4 10-3
FoT (In) 2,543 10-2 1 0.833 5. 4 1.5Tax 105 2,543 10-5
FRL ) 0. 3048 1z 1 304, 5 1.89%10-4 3. 048 % 10-4
= () 10-3 0. 03937 3.28%10-3 1 B.21X10-T 10-6
FH (ml) 1609, 35 BI360 520 161105 1 1. 60935
4B (Fm) 1000 39270 3280, 83 106 0.82137 1
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i HEE B AT By BB AT,
FEE () HERCRE (oF) (U0 = 9751432 HERE (F) BEE D) (oF-32135/9
REE ) FRILE (oK) 4273, 16 HEE (oF) ZHIRARE (ok) oF+435. B3
FRLEE) 0. 3048 1z 304.8 1893 10-4 3. 048 % 10-4




